S 6 FE HIEMBPIBAFAFEERKERERE (BLr) - BERAR @ 2%k)
1. B4l
(1) BEREFH
Sy MR | AFEES | BREEER | X | ZREHR | KX | A8EK tex AFEK o
= 27 | 69.2% 26| 68.4% 25| 67.6% 25| 735%
BEREFR £ 12 | 30.8% 12| 31.6% 12| 324% 9| 265%
£t 32 39 38 37 34
(2) HFMEREFHR
=k MR | AFES | BEEER | KX | ZBEH | X | S8EK b= ANFEHK b=
B 12 | 92.3% 12| 92.3% 111 91.7% 9 100%
HMEREFH 7 1| 7.7% 1 77% 1 8.3% 0 0%
B 8 13 13 12 9
2. BRAR]
(1) BEREFH
8
gy ;: AFES | BEES | X | SBER | X | A%ERK tex AFEK b
N 24 | 61.5% 23| 605% 22| 595% 22 | 64.7%
BEEREFR 41 15 | 385% 15 | 395% 15 | 405% 12 | 353%
£t 32 39 38 37 34
(2) HFMEREFR
=]
gy ;; AFEE | EEEH | X | SBEHR | X | 5ERK b= AFEK b=
N 6| 46.2% 6| 46.2% 50% 5| 55.6%
FMERSZ2R | 4 7| 53.8% 7| 53.8% 50% 41 44.4%
B 8 13 13 12 9




